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0 3 6 Pk ik B : ~ /3 /5 2
1S PUs R (10,11,12,13,14,15,16) ’ﬂ:ﬁ':b,,znz [(l+x/7 l+x/7)n+1]__[(1—[)n+(1—«/§)n+1]
: ~ /5 2
a3:b2+1 :
Eh{a4:b3+1 o _ 1 [(1+f 3+V5 ] 1 [(1—5)”3—5)]
=b 1= D’+1=n"-2n+2 sl ’ ssh2 ’
= =t =l l=nt-2nt (Y5 642V5 _3xV5
§, = Z2nE2) Ny (P —n+ 1)(2n— 1) 2 4 2
2 : [(14—\/— n+2 (l—ﬁ)m-z]:a
ANO s a;=25-10+2=17 B)X ; bs=25 : ~ /5 2 2
O ;a,=100-20+2=82 (DO ; b,y=100 D e RBREY  15E
(E)O 5 S,y=(100—-10+1)-19 = 1729 | E K 2R
HGEANCDIE) : o
. =100000(1 +0.003)"
2.25+31=56 1. SRR & (1+000%)

Z G ZSFFT b = 100000 (1 +0.003)*(1+0.004)*(1 +0.002)*

- (25,31) B (28, 28) AE [ —FH L P ZSFIFT ¢ = 100000 (1 +0.003)*(1+0.002)* (1 +0.004)*

B (0,0) — P, )W ENCEE "." (1.003 +0.001)(1.003 — 0.001) = 1.003* - 0.001* < 1.003*
(1,1) —Ps )b ) (26,30) L (1.004)*(1.002)* < (1.003)* » Ha>b=c
(2,2)— P, (27,29) D CSEA®) a a a
3,3) — P, /12 : 1 2 ]
(3.3) — (28,28) 1 o A ” T NN a5 N
Pigs ’ : Z'EalEEO_)ZHTI 0 1 2 3 4 5 6 g
HI1(28,28) K2 C af2—3
: 2
1+4+8+12+--+4x28=1+4x(1+2+4---4+28) : a,H6—>5
1 4+4x 28;29 — 1625 © Cobys by~ by by R IRGHIEE LR

AO BO (O ;b H2*—2°

B By Py » 15 k=162
(25,31) R P » 5 k = 1628 DO b, H12°— 2" (E)O i byxb,=bj=(2*)"=256

3B -1 K L LRANBODIE)
TR = Sipopnp = 271070 = (107" <10 3] a-4
=10"70 =10" % 10°™ ~ 5.741 x 10" [ 1i acarg
25,741 x 10" 4F = 5741 x 10° 4F = 5741 {4 ~a,-3,=8=4x2
4.'.'2—?:1_2‘F5 ’ﬁgﬁzaml:an~l_2‘ﬁsaneN :i a,=4+8+12

p— = 1_ ’ QT
@n—lﬁ%’az_alx 2 E‘Z—\L '.a _an:4(n+1)

n+1

BB 81s RILRLAE A 1% ) e



4.3 f(x)=ax’+bx+c> Ha#0
EEHXRn=2%a,=a,+f(0) fl2=1+c-@
Kn=31Fa,=a,+f(1) > Bl5=2+(a+b+c)-@
Rn=41Fa,=
HO@®fFa=b=c=1
as=a,+f(3)=12+(9a+3b+c)=25
5.A,=142>A,=142+3> A, =1+2+3+4
0,=2%>0,=3> 0,=4
O,=144>O,=144+7> O,=1+4+7+10

n(n+1)
2

= A,=1+2+--+n-=
0,=n’
O,=1+4+7+--+ 5nlf

ZZXI+(n—1)><3 Xn:3n2_n
2 2
2
_ n(n2+1)+n2: 3n2—n+9
Z(n*+n)+2n*=3n"-n+18
9x10
2

n=9>m=

UAERIEE C.a <a,<ag<
“by=-a, ..b>b,>by>-
B)X 5 &l (a,)=-3,-2,-1,0,1,2,---
I (c,)=9,4,1,0,1,4,---
©X 5 d,=a,+a,,, =[a+(n-1a]+[a+na]
=2a,+(2n-1)a
(dy) ReSF 2 HANAE Ry 20 ¥

——+81 =126

6.(A)0 ;

DO 5 e,=[a+(n-Dal+n=a-a+n(a+1)
NEBC+1
B 5 B (g =1.2.3, 4,0 B (R =1.5.5 20
W) BIR ARy (@) DR —F U
1-2  fRECKA
0 150 1 3 4 T
1LEFZERE ¢ [ n EA
g - lata) _[Ra+(n=Dd]
n 2 B 2
2. FLLAREL © il n AN
_oa(-r") _a("-1)
Su= 1-r — r=1
I E—F1+4M B -G 1+4+7{
B=H1+4+7+10d
ENE 1+4+7+10+ 13 {#
SEETFE1+4+7+10+134+16+ -+ 553115

:72“230*3 %31 = 1426

©8 F1E5 HIERH

a,+1(2) HI12=5+(4a+2b+¢)@

n{agzal+7d2123

2.ag=a,+7d=35---D

2a, +19d 2a,+29d
Lt 194 o= Lt Id
7 2

Bl 4a, +38d = 6a, + 87d » 1% 2a,+49d =0 - @
OO d=-2a,=49

3.{a10:a1+9d=73 @
Ay =a,+24d =282
@-0f5 15d=-45 = d=-3>4a,=100
Lay=a;+(n=1)d=100+(n-1)(-3)=103-3n

x 30

(1) 100,97,94 .91, ,4,1,-2,-5,
Voo
a34 a35
A 34 A =%x34= 1717
j\%al +a,+ E’\]ﬁ%jﬁ{g

'é:' n=34 E% ’ Eﬁ 34 I,E\*D S34 E%ﬁﬁi\% 1717

(2)Sn=200+(n_1)(_3)xn=203_3n><n<0
2 2
= 203-3n<0 = n>23ﬁ 67..-
n i/ ME Ry 68
W33:336 A5:2 B B1)20; 1960 () 40
H 390
: 200 . oL
QB “6;&03 102 % 33 = 3366
: a6+~~-+a10:(a1+5d)+(a'+9d)x5=95

2
. 2a,+14d =38 @

(a,+10d) +(a+16d) 5,

aptetap= 5

. 2a,+26d=62-@
@-0fF 12d=24 = d=2 > KEOHa =5

- BEEER a, >0 A%k d

.. (2a;+4d)x5 (2a,+14d)x 15
’ 2 a 2

- 2a,+19d=0 = alz—%dﬂd<0

% a, =100 (n

> -1)d=(n-

22—1)d<0

21

n—7>0 = n>10.5"n{/NE 11

d=-10>a,=193
a;s=a,+14d =53
a,=a+(n-1)d=193-10(n-1)=203-10n
(1) B 20 & 1F

S, HROATER 122 3

. N =20 [ 20 = 1960

hRHEFRE
FEEIEN

B R S TR R 3



) Sn:2a1+(n_l)d><n:386+(n_1)><(_10)Xn
2 2
_(3%6-10mn _
2
396-10n<0 = n>39.6> S/ NnEE40
B40 EEE Ak -2 HEEUy 15
-'ﬁﬁ?ﬁ=2X40+124X(_2)x15=390
A 2
LR 160 AR -1 0 6127
1y _ 4095
S :16[1 3] 16(1 4096)_ 256 _ 1365
; 1—(_L) 3 3128
2 2

z@§m$%1~r L.

sk = 174 (U2 )7+ (L) s 55 8 38
1 1 1

=I+E+Z+§+m+;§,81§
1.8
LRI
L 2567 128
2
3.5,=8,x9 . al’=D_a(’-D 4
r—1 r—1
HI%& rfl R =(r = 1)x9
KEC-1-18r'+1=9 . r’'=8:15r=2

4.a,=6> a,=6-r""=-768
=128 [AFECr> Br"=—128r

i 5 — 6("=1) _6(=128r=1) __ <0
se r—1 r—1
Bl-128r—1=-85(r-1):13-43r=86 = r=-2:
RE > (=2)"'=-128fEn-1=7 ..n=8
Fik=(-2)+8=6
1
Ix(1-—) 1-—
5.5, = -2 -2
-1 1 2"
2 2
. =2 ey 2 o <
8,-2] ; %Ez" 10000 » 120000 < 2"
2% =4096 > 2”7 =8192 > 2" =16384 > 2"°=32768
w/ N n=15
78143
His BE5> He M2 M-8
1
B bl R - R AR =2
| g
— (2" -
L_8° 1 _ 1023
Fiisk = - g 1023 ="2
RRIEFTE

BT S XILALAS A TRR 3

FEEIED

:

Lan-n

: 16 _2" 1
- HEEinEN =" =% - L
; Hqin A ST =16 16 > 2000
201 1 en
LR G o= 10240 R
n{L1s > ———116 2048——116 & S onEAREI1S

S I R DL PERTRE TG S P

V3o 1 /31
HZ X (1) 1% 2T+ [ (35)7] <81
V31,3 .9 27 8l
=4 L4776 64 " 256 T 1024
Lu-é)7
_V/3 4 4 L(_z43)_781/§
4 3 10247~ 4096
4
B R 7 - AR R © o BEMOR n
1\n
486[1 - (1"
HIIT = 13 =729(1—%)=729 7329_728
-4
3

"3"=729 = n=6-%6

v

/

: n
L m aoEm -2 -1 —11) =255 @

M:sm @ @-DEr=210_>

morA - U 510

é‘“‘/\k[:j%r’ﬁlja+b atar=a(l+r)=4--@

d+e=ar+ar*=ar’(1+r)=-108 @
108 S

@+0Fr="38=-27

ROFa (-2)=4 ..a=-2
Hlc=ar’=(-2)x9=—18

1.(D" a,,8,,,85,a,, 8y * 3t STEME S > ErhEE R a,;
La,+ta,tastay,tay=>5,;=55"1Fa;=11
@) aytag=2a;a,+a;3=2a;
SR =4a,5=4x11=44

2.8, +a,+a;+-+a,=a,x19
b,+b,+b;+ - +by=b,x19
(ay+rtay) i (by+ e +by)=a,x19h,,x19

=a,):b,=(10+1):(20+3)=11:23
e _ 11
R =5

3- IOIEI]DJ&—‘IE ’ EAI,AZ,A3,A4,'“
HIA, =55 A +A, =12 .. A =7
sk =A +A,+A,+A,=5+7+9+11=32

4- n IE?JHJ&—‘IE ’ %AlaAZaAfH o
HIA =48 A +A, =60 .. A,=12
Fiisk= A +A,+A, =48 +12+3 =63

~ —

s e
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[A480 @20:17 M17:47 @-30 @180 : | 139708 M 8886 [ 13
B 20+67=87>H12+75=13+74="-=43+44=87 : @A
SoAptais=astag = =a,+ta, =15 © =10000(1+0.06)"+10000(1 +0.06)° + --- + 10000 (1 + 0.06)

sk =15+15+ - +15=15x32=480
12 £ 43 3t 32 %

(a+ay+--+ay)  (by+by+---+by))
=agx 11 bgx11l=ag : by
=(3x6+2):(2x6+5)=20:17

a6+ big=a1x31 1 bigx31
=(a+ay+--+ay) : (by+by+---+by)
=(31+3): (3x31+1)=34:94=17: 47

La,=-10

H4n=1>a=2"a,+a,=-38
d=a,—a, =(-10)-2=—12
ay=a,+d=—10-12=-22
LSy, =a+a,+a;=2+(-10)+(-22)=-30

@4n=1>a=12>a,+a,=36

a,=24x2=48>4a,=48x2=96

Sy, =a+ta,+ay+a,=12+24+48+96 =180

La, =24 r=

1.3k
=5000(1+0.1)*+5000(1 +0.1)"* + --- + 5000 (1 +0.1)°

=5000(1.1°+ 1.1°+ 1.1°+ --- + 1.1*)

1.21(1.21"° -1 121(6.719 — 1
=5000x%x 5000X%9)
~ 164762
2.1.005""~ 1.8194
(SIbRA] 332240
ax I H & x 7T AHIEREy 6% + 12=0.005
1 fiE 34238 x 76+ /328 1000000 (1 +0.005) — X I
2 EH#%E x T > IR

3MEHA®KEXTC X
(1000000 x 1.005% = 1.005x — X ) x 1.005 — X
=1000000 x 1.005° - 1.005%x — 1.005x — X

Bt L4 120 il B #6358 x 7 58 1000000 x 1.005'*°

—1.005"x = 1.005" — -+ = 1.005* — 1.005x —x =0
1

REFBAT - 1 12058 » IR X » 2 HE 1.005 it

x(1.005'% - 1)

I ‘\‘ ) 120:
I35 B 1000000 x 1.005 0051
#1.005'° ~ 1.8194 f£ A

x-0.8194
0.005

C = 1819400 x 0.005 _ 1819400 x 50
’ 0.8194 8194

15 1000000 x 1.8194 =

~ 11102 J©

©10 F15 HIERH

:

(1000000 x 1.005 —x) - 1.005 —x = 1000000 - 1.005° — 1.005x — X :

10000 x 1.06 x (1.06' 1) __ 1060000(1.7908 — 1)
- 1.06—1 N 6

=139708

B TR X 7

1 H#%E x5 > {528 100000 x 1.01 — X TC.

2 H&E x I » K

(100000 x 1.01 —x) x 1.01 —x = 100000 x 1.01* - 1.01x — x

12 il &3 x 7 » K

100000 x 1.01"* = 1.01"x = 1.01"% — ==+ = 1.0IX = x=0 T

Ff L4 100000 x 1.01"

x(1.01"% 1)
1.01-1

1,012~ 1.1268 £ A+ 15100000 x 1.1268:%

=x+1.01x+ 1.01°X+--- + 1.01"' x =

112680 x0.01 _ 11268000 _ —
T 0.1268 1268 ~ 8886 7L

B 1A% % 100(1.006) -1 #EIx

2 {EHH % » % 100-(1.006)> - 1.006 — 1 BT
3{E A% > % 100-(1.006)° - (1.006)° - 1.006 — 1 T,
SonfEH®REE S

100 - (1.006)" - (1.006)" " = (1.006)" > - --- = 1.006 — 1 = 0
B1100 - (1.006)" = 1+ 1.006 + (1.006) + --- + (1.006)" "

~1-(1.006" - 1)

©1.006-1

= 0.6-(1.006)"=(1.006)"-1 = (1.006)”:%

o 100.0026 =1.006 E 100.3980 =25 - ( 100,0026 )n — 100,3980
_ 03980
0.0026

C IS4 A TR A2~ 128 0 #1346

HI| 0.0026 x n=0.3980 - 1§ n ~ 153.1

1.(3a, - 4b,) +(3a,—4b,) + - + (3a, - 4b,)
=3(a,+a,+--+a,)—4(b,+b,+--+b,)
=3-23-4-10=29
2. R =(3"+3"+3+ - +3) - (22+ 27+ 2"+ +2%)
+(11+16+21+--+46)

I ETEAS VIR ETCAR S R T
3-1 2—-1 2

=3280 —-1020 + 228 = 2488
3R
=(15x P~ 14x1-8)+(15x 2~ 14x2-8)
+(15x3° = 14x3-8)+ - +(15x10° =14 x10-38)
=15(1P2+22+3+ - +10) - 14(1 +2+3++-+10) -8 x 10
S p=15-q=-14r=-80

P (P ERIA L Tkl ] [



El54 EI10:7 ES551 E(10,-5,6,-60)

Bk =2(a, +a,++a,)+3(b, +b,++b,)
=2x154+3x8=54
Al i a +a,+-+a,=x>b+b,+--+b =y Hl
(2a,+5b,) +(2a,+5b,) + -+ (2a, + 5h,)
=2X+5y =551
(3a,-4b,) +(3a,~4b,) + -+ +(3a,~4b,)
=3Xx—-4y=2--Q
HOO®Ex=10y=7
BFk=(2"+2"+2"+ - +2")=9(1+2+3+ - +10)

~ (100 + 100 + =+ +100)

10 1
_ 2(210

2f_ll)—9x55—100x 10 =2046 - 495 - 1000 = 551

B A =(10xP-5x1*+6x1-3)

+(10%x2°=5x27+6x2=3)+ - :
+(10x@3—5x@2+6x@_3)

=10(1P+2°+ - +20°) = 5(1°+ 27+ -+ +20°)

F6(1+2+420)-3x20 :

Sp=10g==-5>r=6>5=—60
5 (p,q,r,s)=(10,-5,6,-60)

n(n+1)
2

n(n+1)(2n+1)
6

D1+2+43+4+--+n=

@17+2°+3°+4°+ ... 4n’=

2
@ 1P+2°+3° 44+ 40’ = [w]

#6 6
LR =2 x 12422 x 22+ 22 x 37+ 22 x 47 4 o + 27 x 12
=4(1%+22+32 447+ +12%)
1251325
6

=4x =4x650 = 2600

2R =(1+2°+3+ - +20°) = (P+2°+3°+ - +9°) :

:(20221 e XZIO )2 = 44100 — 2025 = 42075

3R =(P+ 1)+ (2 +2°) + (37 +3%) + - + (12° + 127)

=(P+2+3 + - +12)+ (P +22+ 37+ - +12%)

12x13)2+12xl3><25

=( 5 ¢ = 6084 + 650 = 6734

:

F12109 ; 7346 M 3465 F3378125 Hl 820800

40376

@ﬁﬁZ‘Z — w =2109

PR (PR RIA Tkl ] [

CEFTR =32 (1P 4+ 22+ 32447+ -+ 97+ 10%)

10x11x21

= 3465
6

=9x

CEFK=5 (P +2°+3+ 4+ 5+ +9°+10°)

— 125 (%)2 = 125 x 3025 = 378125

CERFTR =2 (11 + 12+ 13°+ 147+ 15° + - +24° +25%)

25x26 2 10x11 .2
(22220 (10l

=8(325"-55%)=8x 380 x 270 =2820800

=38

CEFR=(P+2x1)+(2242x2)+(37+2x3)

+ (47 +2x4)+ -+ (48 +2x48)
=(P+22 43+ 4+ +48°) +2(1 +2+3 +4 + - +48)

_ 48 X469 LETERP I 48;49 = 38024 + 2352 = 40376

LHA=(2x1-1-3)+(2x2°-2-3)
+(2x3°=3-3)+-+(2x20°-20-3)
=2(17P+2°+3%+ - +20%)

(1 +2+3++20)=(3+3+3+--+3)
20 {8

- 20x21x41  20x21
=72 x —
6 2

=5740 - 210 — 60 = 5470
2.EHMER 117 HnIEE
[11+(n=-1)x2=(2n+9) =4n"+36n+81 » H 111§
ﬁﬁz{%:(4><f+36><1+81)+(4><g2+36><g+81)
+(4%x3°+36x3+81)+ - +(4x11°+36x 11 +81)

-3x20

=4(1P+2°+ 3%+ -+ 11%)
+36(1+2+3+--+11)+81x11

11 x12x%x23 11x12
6

=2024 +2376 + 891 =5291
3.AEKX =(1P+1)+(2°+2)+(3*+3)+--+(n"+n)
=(IP+2°+3%+ - +n)+(1+2+3++-+n)
B n(n+1)(2n+1)+n(n+1)

=4x +36 x + 891

6 2
_n(n+1)(2n+1)+3n(n+1)
a 6
_n(n+1)(2n+1+3) n(n+1)(n+2) _ .
a 6 B 3 = Hisk
OFf sk :w: 10100 x 34 = 343400
5 &
B 525 EN5950 El1330 EA43772 E& 171700

B AR =(2x1-3)(1-1)+(2x2-3)(2-1)

+(2Xi_3)(i_1)+"'+(2X£_3)(£_1)

F2H MEOKA 11 ©




=(2x1°=5x1+43)+(2x2°-5x2+3)

+(2x3=5x3+3)+ - +(2x10°-5x10+3) :

=2(1P+2°+3+ - +10%)

~5(1+2+43++10)+3x10 :

10x11x21 10x11
6 5% 5 +30

=770-275+30=1525
BTk =1x(2x1+1)+2(2x2+1)+3(2%x3+1)

:2><

£ +20(2%2041)

=(2x PP+ 1)+(2x2°4+2)+(2%x3*+3)

foe 4 (2%x20°420)

=2(17+ 22437+ +20) + (1 +2 43+ +20)

=2 20x21 x4l | 20x21 _ 57404 210 = 5950

6 2
B AR =(2x1-1)+(2x2-1)+(2x3-1)

e+ (2x10-1)
1 241) D ERFR=1Ix13410x 1249 11+ +1x3

+(4x3=4x3+1)+ - +(4x10°-4x10+1)
=4(17 4274374 4+ 10) = 4(1 4243+ +10)+10

—(4xP—dx1+1D)+(4x2—4x2+41)

_4.10x11x21  , 10x11
=4x 6 4 x 5 +

=1540-220+10 = 1330
BTk =(1x2+2x3++51x52)

10

—(1x2+2x3 4+ +20x21) :

_51x52x53 20x21x22
3 3

=46852 -3080=43772

o _1x2 2x3 , 3x4  100x101
}Eﬁ:k_2+2+2++2

213(1><2+2><3+3><4+--'+100><101)

Z%sz 171700

°OFH 3{)%‘*91’@%21

84 5 1M

2F/ 17 {8
16194
(JiE—)
Fisk=1x19+2x 17+ +9x3+10x1
:lx(—2><l+21)+%(—2><%+21)

+e+9(=2x9+21)+10(-2x10+21) ¢
==2(P+2°++9+10°) +21(1 +2+ -+ +9+ 10)

10x11x21 10x11
21
6 2

=—770+ 1155 =385

:—2)(

©12 F18 FIIERH

.
: |E130 E638 EA3375

BN 10x5+9%x4+8%x3+7x2+6x1

DB 2RI 14243+ +15= 15;16 ~ 120

:

(L)
Fick=1x1942x174+3x15+4x13+5x114+6x9
+7x7+8x5+9x3+10x1
=19+34+45+52+55+54+49+40+27+10
=385
2. VWIESEAE 7 % 10
R 2HVIETIRA 6 x 9 il (HerEh) %
ERIMIESTIEAE S8 (HAhLIikk)
Fisk =7x10+6x9+5x8+4x7+3x%x6 -
+2x5+1x4
=T70+54+40+28+18+10+4=224

=50+36+24+14+6=130

=11(11+2)+10(10+2)+9(9+2)+ -+ 1 x(1+2)
=(11P+10°+9°+ - +1)+2(11+10+9+---+1)

_11x12x23 11x12

¢ =506+ 132 =638

+2 x

fn1s
BN 2+3+4+--+16=120+15=135

B )b[]ls
BB 3+4+5+ - +17=135+15=150
SRHNZ RIS 15 E s AR 1S

1y 11 1y 1 1 11
LR = (T g+ (=) 3+ (G193

+...+(L_I_)XL

97 " 100’3
_Lr 1 . 1 vV_ v ...y 1
LR oy A B AR AT
1,99 _ 33
37700 100
o | L !

2.HR= T 5.3 T3 T oo x 101

2 2 2 2
-2 .2 2 ..., 2

12 2x3  3x4 100 x 101
_ol_1 1 1 1 1y, .. S
=2y PG 20 T 1o
_ _ 1 {_200
=201 101) 101

3. K RAEHAL
ﬁﬁ;k:ﬁ_—lﬁ+ﬁ_—1ﬁ+\/§_-lﬁ+__.+@:l/m
V1 -V2+Y2-V3+V3 -4+ +/99 /100
1
_V1-V/100 _1-10 _
1 7
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g3l 531

36
760 Hs5 @S

1 1 1 1 1 1 1 1
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